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According to The International Convergence of Capital Measurement and Capital
Standards, please answer the following questions.
(- ) What kinds of credit risk components should the bank provide estimates under
the AIRB Approach? [4 %~ ]
(= ) What kinds of treatments are recognized as the eligible credit risk mitigation for
Standardized Approach? [4 ~ ]
( = ) Briefly state what kinds of basic requirements the bank should follow on the
mark-to-market and mark-to-model for the trading book valuation? [10 % ]
(= ) Briefly state how to calculate the operational risk capital charge under the
Standardized Approach? [7 ~ ]
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Assume we can access to a sample group consisting of 5 private funds which
implement the same investment strategy, but design the various length of lockup period.
By the way, a researcher wants to build the linear regression model to predict the
performance of return by using the lockup period as an independent variable. Please use
the following data and answer questions.

No. Lockup Period (yrs) Return (%) per year
1 5 12
2 6 16
3 7 18
4 8 20
5 9 24

(- ) Do you think what kind of positive or negative relationship exists between the
lockup period and return? [4 4 ]}

(= ) Please calculate the mean of lockup period and return respectively? [4 ~ ]

( = ) Please calculate the intercept coefficient and slope coefficient of linear
regression? [12 ~ ]

(= ) What is the expected return with a 10-year lockup period? [5 ~ ]



